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QUESTION 1
This question requires that you evaluate the underlined text to determine if it is correct.
Views are database objects that contain all of the data in a database.

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed." If the
statement is incorrect, select the answer choice that makes the statement correct

A. No change is needed
B. Queries

C. Stored procedures
D. Tables

Correct Answer: D

QUESTION 2

You work for a small auto trading company. You need to remove a car from the company database. Information about
the car is stored in the following tables.

( Make ) [ Model [ ModelEngine Engine
V 1D : B . ¢ -~ VD
Manufacturer _E MalkelD —\E ModelD ; Cylinders
Headquarters ModelMame EnginelD HF
Description

All of the car\\'s parts are custom made, so they each have a row in every table. Cascading deletes are not enabled but
referential integrity is. From which table must you first make your deletion?

A. Make

B. Model

C. Engine

D. ModelEngine

Correct Answer: A

QUESTION 3

You need to combine the results of two queries into a single result that contains all of the rows from both queries. Which

98-364 PDF Dumps | 98-364 VCE Dumps | 98-364 Exam Questions 213


https://www.pass4itsure.com/98-364.html
https://www.pass4itsure.com/98-364.html
https://www.pass4itsure.com/98-364.html

. VCE & PDF https://www.pass4itsure.com/98-364.html
g 2024 Latest passditsure 98-364 PDF and VCE dumps Download

— PassditSure.com

Structured Query Language (SQL) statement should you use?
A. TRUNCATE

B. JOIN

C. EXCEPT

D. UNION

Correct Answer: D

QUESTION 4

You have two tables. Each table has three rows.

How many rows will be included in the Cartesian product of these two tables?
A.0

B.3

C.6

D.9

Correct Answer: D

QUESTION 5

You assign Userl a set of permissions that include the WITH GRANT OPTION. The WITH GRANT OPTION enables
Userl to:

A. request a log of permission use.

B. delegate permissions to other users.
C. create new database users.

D. view other users\\' permissions.

Correct Answer: C
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